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Things that affect power
thing Pr(Type I error) | effect size power
increasing effect size same increases increases
increasing sample Size same same increases
increasing alpha increases same increases
two-tailed test same same decreases
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5)

Your advsor asks you to sample 40 balloons and 16 dinosaurs from their populations and
measure both their price and their traffic. You calculate that for balloons their price
correlates with traffic with 0.72 and for dinosaurs the correlation is 0.88.

Using an alpha value of a = 0.01, is the observed correlation for balloons significantly less
than for dinosaurs?
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4) Your stats professor asks you to measure the happiness of 98 proud and 31 infa-
mous brothers and obtain for proud brothers a mean happiness of 33.24 and a standard
deviation of 5.4555, and for infamous brothers a mean of 34.76 and a standard deviation of
6.0071.

Make a bar graph of the means with error bars representing the standard error of the
means

Using an alpha value of 0.01, is the mean happiness of proud brothers significantly different
than for the infamous brothers?

What is the effect size?

What is the observed power of this test?
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4) The happiness of proud and infamous brothers

I—§=33.24—3476=—152

- N 2
\/(98 1)5.45552+(31-1)6.0071% _ o -

i (98—1)+(31-1)

sz = 5.5907\/ g + 3y = 1.152

_ B-§ _ 33.04-3476 _ _
t=g =" 1mz - 132

+2.62(df = 127)

terit =

We fail to reject Hy.

The happiness of proud brothers (M = 33.24, SD = 5.4555) is not significantly dif-
ferent than the happiness of infamous brothers (M = 34.76, SD = 6.0071) t(127) = -1.32,
p = 0.1892.

The effect size is d = |i;ﬁl e l33'§f1533%"76| =0.27

This is a small effect size.

The observed power for two tailed test with an effect size of d = 0.27, n = il
= 65 and a_=_0.01 is 0.1400.
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